ARFSEERE SM4EE KX=BEGERE EITE SM4E11813R0) FiEs BBEZHN

g | B&OH| &HS K % ER |mEnozml e = FERI&E
BT 41 1L 5t 1#& — 1,030 1,030
BT 57 INFR T 2 1% — 1,030 1,030

ERlA FIER 102 F4 B atk — 3,100 3,100 5.160
FER 107 B Bk X — 0 0
X 205 1811 £R X — 0 0
PYES 447 S 2% X — 0 0
BT 3 R B FER 1,020 3,100 4,120
BT 5 IINBR Bt HER 1,020 3,100 4,120
BT 6 FR it 2N FER 1,020 3,100 4,120
BT 7 =% "o FER 1,020 3,100 4,120
BT 8 o]z HE HER 1,020 3,100 4,120
BT 9 =P =3 FEL 1,020 3,100 4,120
BT 11 B i FER 1,020 3,100 4,120
BT 14 INFR EDN 1#% — 1,030 1,030
BT 16 NS KEF FER 1,020 3,100 4,120
BT 19 R &Th HER 1,020 3,100 4,120
BT 21 T3 T FER 1,020 3,100 4,120
BT 25 i i 1#% — 1,030 1,030
BT 32 % =K FER 1,020 3,100 4,120

g BT 34 HFE k2 FER 1,020 3,100 4,120 93,540
BT 43 HA BAK HER 1,020 3,100 4,120
BT 53 B i FER 1,020 3,100 4,120
X 216 EL PE atk — 4,100 4,100
X 219 BF P21 atk — 4,100 4,100
X 240 B —E X — 0 0
= 241 el =] atk — 4,100 4,100
1= 242 =R I ey — 4,100 4,100
X 245 INE DEE = — 4,100 4,100
= 247 g BN atk — 4,100 4,100
1= 248 B AN = — 4,100 4,100
S 334 i x=2 Ei% — 5,100 5,100
S 335 O EFN: X — 0 0
S 340 gy R X — 0 0
S 354 = B X — 0 0
BT 22 RHE L] 1#% — 1,030 1,030

BEK | EETE 29 & H L) 1#& — 1,030 1,030 2,060
X 202 $BA 57 X — 0 0
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g | B&OH| &HS K % ER |mEnozml e = FERI&E
BT 10 (s S4B FER 1,020 3,100 4,120
BT 20 SN b HER 1,020 3,100 4,120
BT 27 EAR e FER 1,020 3,100 4,120
BT 58 =H EH 14k — 1,030 1,030
BT 71 FR (h 14k — 1,030 1,030

N BT 72 T HZ& 14k — 1,030 1,030 17,510
BT 73 'R el (RFE) — 0 0
BT 74 iz EZ 14k — 1,030 1,030
BT 75 = EpN: 14k — 1,030 1,030
R 101 R _E BF X — 0 0
FER 103 2) R X — 0 0
=R 244 (BE 14 X — 0 0
BT 45 A T FER 1,020 3,100 4,120

ESEE PN B 111 = hEE X — 0 0 7,220
FER 112 R EES atk — 3,100 3,100
BT 13 A<H 7 FER 1,020 3,100 4,120
BT 28 = FKER 14k — 1,030 1,030
|IRTE 35 N HEAB (RFE) — 0 0
BT 36 =% S FER 1,020 3,100 4,120
BT 37 LSS FEREB 14k — 1,030 1,030
BT 47 LA i EL 1,020 3,100 4,120
FER 108 &) =5 atk — 3,100 3,100
XE 218 KB B atk — 4,100 4,100

PN E TN XE 220 BR E X — 0 0 44,120
X 225 FE ) 1 =i — 4,100 4,100
XE 226 B R atk — 4,100 4,100
XE 227 ERN i X — 0 0
=R 229 KFH 1 X — 0 0
XE 237 = EA atk — 4,100 4,100
S 316 e TR BB = — 5,100 5,100
SE 333 T (=IN atk — 5,100 5,100
SE 339 A BR X — 0 0
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g | B&OH| &HS K % R |mEaozE| BER = FERI&E
|IETE 4 % INER 1#& — 1,030 1,030
mIETE 12 YEA A 1#% — 1,030 1,030
|IETE 23 = 5z 1#% — 1,030 1,030
|IETE 24 BF e 1#& — 1,030 1,030
|IETE 30 KH 0N % FER 1,020 3,100 4,120
|mIETE 31 Al F 1#% — 1,030 1,030
RKRA2 | BT 33 = HE 1% — 1,030 1,030 25,730

|IETE 40 7a)ll REEF 1#% — 1,030 1,030
|IETE 42 T B 1#% — 1,030 1,030
|IETE 48 J& ES 2 FER 1,020 3,100 4,120
|IETE 54 A wiv HER 1,020 3,100 4,120
mIETE 56 fEiE BA 1#% — 1,030 1,030

= 214 Hig K& = — 4,100 4,100
|IETE 18 IS BB 1#% — 1,030 1,030
|IETE 46 pNi] CES 1#% — 1,030 1,030
|IETE 51 7 i g HER 1,020 3,100 4,120

PN/NES FER 113 K H ENE = — 3,100 3,100 21,580

= 217 BH RIEF = — 4,100 4,100

X 224 BEA BE = — 4,100 4,100

X 228 —B81l £33 = — 4,100 4,100
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BT 15 =R v FER 1,020 3,100 4,120
BT 39 =Ll B Bl 1#% — 1,030 1,030
BT 44 #*% HE 1#% — 1,030 1,030
BT 49 AR RE=F HER 1,020 3,100 4,120
BT 50 =mH TBEXER 1#% — 1,030 1,030
BT 55 et B2 FER 1,020 3,100 4,120
BT 70 i HeE 1#& — 1,030 1,030
BT 76 EIE i 1#% — 1,030 1,030
FER 104 1IN B2 X — 0 0
FER 105 it SER atk — 3,100 3,100
HIER 106 S RAE2 Ei% — 3,100 3,100
FER 109 e T4 X — 0 0
HER 115 N it atk — 3,100 3,100
1= 201 P =] s X — 0 0

Bk %Eﬁ 203 b Eﬁ%a X — 0 0 66,710
X 215 B = atk — 4,100 4,100
XE 238 23 HEY (RFE) — 0 0
= 246 (LA BEX atk — 4,100 4,100
S 301 U] ER =i — 5,100 5,100
S 302 /Nl KE = — 5,100 5,100
S 303 FH fR—ER X — 0 0
S 304 e RE atk — 5,100 5,100
S 305 Rk HmY Ei% — 5,100 5,100
S 314 E]== SES X — 0 0
S 315 FEH B X — 0 0
SR 317 K fin K Ei% — 5,100 5,100
S 349 neE EE X — 0 0
PYES 401 FE & X — 0 0
PYES 414 B R atk — 6,200 6,200
PYES 446 KZ B X — 0 0
BT 17 BRE &=t FER 1,020 3,100 4,120

BEKN | EET 26 R o FER 1,020 3,100 4,120 12,360
BT 38 iyfas ok FER 1,020 3,100 4,120
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. 324 320 54 IR N X — 0 0
A — 5,100
S 360 £t EHTF Ei% — 5,100 5,100
BT 52 Fr i@ = FER 1,020 3,100 4,120
BT 68 F e HRET 14k — 1,030 1,030
X 209 e e Ei% — 4,100 4,100
SE 343 JE ] BAF (RFE) - 0 0
S 351 piic] =2 (ESIN X — 0 0
Y S 355 FH = X — 0 0
AR 9,250
TUEX 406 jrhva HT X — 0 0
PO ER 434 Y& & JEF X — 0 0
PO ER 435 1TE:S EZE X — 0 0
TUEX 437 TR AEF X — 0 0
TUER 441 A HF X — 0 0
TUER 448 K& HEES X — 0 0
nx% e 431 < H 52 X — 0 0 0
BT 63 Mt F&E HER 1,020 3,100 4,120
XE 208 Ean AN atk — 4,100 4,100
XE 212 ng B atk — 4,100 4,100
XE 213 N DES atk — 4,100 4,100
S 310 FaAt At X — 0 0
= SE 311 Bﬂﬁ —k X — 0 0 21,520
S 329 HH .5 X — 0 0
SE 347 A IZF X — 0 0
S 350 S [ETIN Ei% — 5,100 5,100
TUER 411 5H A+XR X — 0 0
PO ER 469 1TE:S BE X — 0 0
TUER 473 =R J& X — 0 0
XE 232 sl it atk — 4,100 4,100
XE 236 A 25 atk — 4,100 4,100
o S 325 KEE X X — 0 0
g 13,300
SE 328 R H EfkF atk — 5,100 5,100
S 362 fif] EH Vi X — 0 0
PUEZ 404 FIRR BT X — 0 0
TUEX 424 = FEN X — 0 0
PO ER 428 i 23 X — 0 0
TUER 442 =l B atk — 6,200 6,200
= PYES 454 FE # X — 0 0 12,400
PUEX 465 AN E5 X — 0 0
PUEZ 470 bl FTF X — 0 0
TUER 483 =i ER atk — 6,200 6,200
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BT 61 SE: E):3 14k — 1,030 1,030
XE 222 o] MET atk — 4,100 4,100
= 231 PNE] 2 KER Ei% — 4,100 4,100
XE 233 5 Emic =Y — 4,100 4,100
S 309 PN BETF X — 0 0
S 313 o E (- X — 0 0
SE 326 R T X — 0 0
S 327 A & X — 0 0
SE 338 BIA WF X — 0 0
S 341 =) iz ) X — 0 0
- S 344 SED} FOSES X — 0 0
= 19,530
TUEX 412 T2 B —ER X — 0 0
TUEX 423 BB R X — 0 0
TUEX 430 2 REE X — 0 0
TUEX 436 IR EET X — 0 0
PUEZ 450 B F X — 0 0
TUEX 451 it BRF X — 0 0
TUEX 452 T EF NN X — 0 0
TUEX 453 A< K] X — 0 0
PUEZ 456 AfRH =g ) Etg — 6,200 6,200
PUEZ 459 (RS =B X — 0 0
TUEX 467 LA PRER X — 0 0
BT 2 WA BEfE FER 1,020 3,100 4,120
BT 64 4H E 14k — 1,030 1,030
FER 110 AR =P atk — 3,100 3,100
=R 234 Fain &+ X — 0 0
XE 239 =P FUF | (RFE) — 0 0
S 308 ) EHiH X — 0 0
SE 359 BR A X X — 0 0
S 361 VN BT X — 0 0
B SE 363 f&H H— ey — 5,100 5,100 19,550
PUEZ 409 Ri% EHF X — 0 0
PUEZ 413 LA (235 X — 0 0
TUEY 422 . Bx X — 0 0
PUER 445 Fia ERE Ei% — 6,200 6,200
TUER 460 ) N X — 0 0
TUEX 464 B2 EXF X — 0 0
TUEX 474 T3 WwERT X — 0 0
TUEX 479 FAZR BF X — 0 0
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FER 114 B S X — 0 0
X 243 TE = X — 0 0
S 323 it e X — 0 0
PUER 416 i) BF 5 A = — 6,200 6,200

(e PYES 418 S¥e RA X — 0 0 12,400
PUEX 420 KEF (e X — 0 0
PYES 439 il HE X — 0 0
PYES 468 T k2 X — 0 0
PYES 475 PE TR atk — 6,200 6,200
PYES 426 A= BT atk — 6,200 6,200

B PYES 455 /NN =) ey — 6,200 6,200 12,400
PYES 462 = MEF X — 0 0
= 204 ENAY B atk — 4,100 4,100
1= 210 2R #E X — 0 0
X 221 #* AETF = — 4,100 4,100
X 235 %ZH & = — 4,100 4,100
S 306 (LA 8 atk — 5,100 5,100
S 307 pERYl g8F X — 0 0

W H SE 312 szl BF X — 0 0 17,400
S 318 M7 ENU X — 0 0
PYES 407 +A Z=EB X — 0 0
PYES 415 e BE X — 0 0
PYES 419 A% E— X — 0 0
PYES 425 R+ R ZE X — 0 0
PYES 461 iR R X — 0 0
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BT 59 hE Hien FER 1,020 3,100 4,120
BT 66 I HE 1#% — 1,030 1,030
BT 67 e BE FER 1,020 3,100 4,120
HIER 116 FH e T = — 3,100 3,100
X 207 i B atk — 4,100 4,100
= 211 =k =T X — 0 0
=EX 249 # B— (RFE) - 0 0
S 322 ZH HB X — 0 0
S 324 NI B X — 0 0
S 337 HH =27 X — 0 0

EHH — 22,670
S 345 At+E AT X — 0 0
S 352 AT E— X — 0 0
S 353 @K FlE X — 0 0
S 356 R BT X — 0 0
PYES 403 £ig F&H X — 0 0
PYES 408 R HET X — 0 0
PYES 410 B = X — 0 0
PYES 433 F1F ) X — 0 0
PYES 482 et BEHE X — 0 0
PYER 484 KR RE atk — 6,200 6,200
BT 60 RE BX FER 1,020 3,100 4,120
S 331 aH BA X — 0 0
S 348 iz =) X — 0 0
PYES 405 FE EX X — 0 0

NE — - 16,520
PYES 417 & STk atk — 6,200 6,200
PYES 429 A =X X — 0 0
PUER 463 Bt IR XA Ei% — 6,200 6,200
PYES 480 A& EE X — 0 0
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FiE | A0 | HS % ER |mEnozml e = FERI&E
S 330 T 1ER) = — 5,100 5,100
S 332 = fR= atk — 5,100 5,100
S 336 pNE oAl X — 0 0
S 346 == S X — 0 0
PYES 402 &F st X — 0 0
PYES 427 VR (2 x5 X — 0 0
. PYES 432 KA BWT X — 0 0
g 16,400
PUER 438 R HF = — 6,200 6,200
PYES 440 % FAF X — 0 0
PYES 443 FRIR =F X — 0 0
PYES 457 IINF Bk X — 0 0
TUEX 471 N i X — 0 0
PYES 476 #x izl X — 0 0
PYES 478 F T X — 0 0
BT 1 KT BRE FER 1,020 3,100 4,120
BT 65 #iE = HER 1,020 3,100 4,120
W B|IETE 69 L BETF 1= 1,020 3,100 4,120 12,360
PYES 449 N pEF X — 0 0
PYES 472 ric] 2 hE X — 0 0
BT 62 JUH D H 1#& — 1,030 1,030
X 206 A PoE X — 0 0
X 223 F#F i X — 0 0
X 230 R By ¥ atk — 4,100 4,100
S 319 BFH T atk — 5,100 5,100
S 321 /N ye X — 0 0
S 342 R % X — 0 0
Pa)c] SE 357 Eul BT ey — 5,100 5,100 26,630
S 358 N E HF = — 5,100 5,100
PYES 421 EH F X — 0 0
PYES 444 g BF X — 0 0
PYES 458 AN &) X — 0 0
PYES 466 F+H Z—H8 X — 0 0
PYES 477 i) EK X — 0 0
PUER 481 AR DB = — 6,200 6,200
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